Zoit-HOERRE

2024 FHNRSITIRIR (FIRSITELF) HHE

BN P RERAREEN R

(3) TR Ay
[LRES

I AN R A SR B IR 57 55 B, A% T 55 B0 i (R TR A R REAT 0 S, B
WA 7 2R 1) SR B A A I B S5 42% v Rl BT AR 70 BE A Y 114 Bl P 22 T8 (0 ZZ30R Y AL v 5
TG NE LR

Dot TTERAFE L, 26 & AL 25 DT
B AR BEANE HE R
id A A 55 55 B b U R BT A L B R Aol

[HE) & LR ), BB 4RSS T T #E2% 0. 25 e, At ZiialsE o kesh 1. 18 Jiue, HBhdr
PRI RN

F—Fhor R WSEPRSA CRIAED

HUE IS PR R A=12004+472 (LEAHLE) =1672 (J378)

HUE IR AR=5000 X 0. 25=1250 (J575)

HUE =4 A B3R F=1672—1250 (HUEMIHRIS A =422 (J378)

Ak F 7 ) F S PR AR =2400+-50 (HAEZ L) =2450 (F7T)

A E TR AR =2000 X 1. 18=2360 (J575)

At e 7 A ) B 2% F=2450—2360=90 (/3 7T)

i Bh A 7= 2 8] 4 GIREEA At L ZE (] it
Ry 4y B Bh A 7= 9 1200 2400 3600
PER 57 55 K 5000 2000
TR AL A 0.25 (&2%m 1. 18 (24
B AE = (AR GINES A= 400
M G “HiBh ZEH] paN. el 472 472
HEFE A fit e FEME 200
28] PaN. el 50 50
/N 50=200X2. 5 472=1. 18 X400 522
FEARA: = 2 A R F— FEFH 2 3000 900
M GEA “Hilit ZE|H] 73 e 470 750 1062 1812
R ¥ & 1200 400
ZE|H] 73 i 470 300 472 772
/N 1050 1534 2584
Ry e 4 Bh A= 7= 2% F 1200 2400 3600
PER 57 55 K 5000 2000
TR AL A 0.25 (&% 1. 18 (24
ITBGHR TR Gh AN “E ok FEHE 400 200
™ pa 100 236 336
Sl
BEEERITRER IR N “HyEE R FEHE 200 100




Zoit-HOERRE

7 g 50 118 168
Tl
RIS A S B #A T | 1250=50+ 1050+ 2360=472+15344236+118 3610
100+50
B AR 7 S B A 1672 2450 4122
TP AR 22 422 90 512
i A7 AR A AR —HUE %R 4 720 000
—ffEsE 500 000
it 9 FH— 25— 7 6] 18 120 000
— 58 % () 7 720 000
LR 3 360 000
e H 1 680 000
B AP AR AE P AR —HLZ ZETE] 12 500 000
G RIBAD
—fE s %] 23 600 000
G RIBAD
(2) FRREGBIAE = AR 22 e vh N B 9
i, A 5 120 000 (ZZ5)
B AR AR B AR P AR — LB 4 1R 4 220 000
—{fEE 2= 900 000
M7 TR CRAN I
HUE B BR R A=1200 (J570)
U BRI A=5000 X 0. 25-400 X 1. 18 (fEHZAHEIREL =778 ()
HUE = A 1 A B 27 i =1200—778=422 (Ji70)
it FE 2R 8] F SEBR AR =2400 (J570)
At L BRI AR =2000 X 1. 18-200X 0. 25=2310 (FF75)
At B A 1 A B 2% Fi1=2400—2310=90 (3 78)
L DIe Yk N 5| Y S GIREXE) ft H 22 ] it
Ry e 4 Bh A= 7= 2% F 1200 2400 3600
LR TT 55 K& 5000 2000
THRI AT A 0.25 1.18
(25D (5
B = (A FE IR FER R 400
MG “HiBh ZE 18] 53 hic 472 472
A= AR &
frg FEH & 200
ZE[H] G 50 50
T
/Nt 50=200X2. 5 472=1. 18 X400 522
A PR A A A R GIREEE BLHLZE ] it
S TR B | R 3000 900




Zoit-HOERRE

M GEAN “Hilig ZE[H] PaNLH 750 1062 1812
PR T
B FEFH 2 1200 400
ZE[H] L 300 472 772
Tl
/Nt 1050 1534 2584
L Ie Yk N 5| Y S GIREXL] At H ZE (] it
Ry e 4 Bh A= 7= 2% H 1200 2400 3600
PER 57 55 K 5000 2000
TR AT A 0.25 (&2%m 1. 18 (24
ATECRT TREH FEH = 400 200
GTEN“E BT PaN. el 100 236 336
™
BT TAEH FEHE 200 100
GEN 2 paN el 50 118 168
™
At RIS A S BL & B A TH 778=1050+100+50+50-472 | 2310=1534+236+118+472-50 3088
B AR 7R SR A 1200 2400 3600
AR P A 2 S 422 90 512
i HE R —%F — 40N 18 120 000
—— 3 % (A 7 720 000
B ——ATEER] 3 360 000
——HAh (EHD 5 120 000
HeERH 1 680 000

B AP AR —— A B AR P AR —— BB ZE 1]
12 000 000 C(SEBRREEAD
—— {7 [A]
24 000 000 (SEFRmA)
[545]
FE—Mor, RIRBSERRSA, CRIAED
5RO, R RIERA,  CRUEA I

[ Y AP R FH v R A 43 Bev2 o B A B AR r= S L A B 2 7= 2 B S B i AR IR A 7 2 R S %k R AR 7
Bk ) 2 B 2 T 240, Mtk ANIEFE 2 O (2019 45

A AP AR

B. il & 7% F

C. A

D. 8§65 9 H

B C

FENT: ARG AT R BA 7y ey o 4 B AR 72 2 1) S B i AR 0 9 P 5 4 1 RIS RROAS 2 L o 1) 9 P 2 T 11 22
BRI SOE AT N RIS . BRI C.




Zoit-HOERRE

(245 S 2% 0 K VT SR A0 0 i e 4

PN WARES B I
=K PN RES B R “HHOhE” B3, Al s
FRL A= 2 B S /X AR 5T 55 B
AL H oSk PIRIYEE, Sl i Sebr B 3, fExoh oy
OXWAEE.: FALEA=E 2%/ BN
@*f5haric
BT AR =X A BE AR /%o Ak o G B
XA 73 e AR =R R+ N2 )
TR R LS SEBR 5THRIZE A NS B 2R ]

(D Hili& 3 H B A A7) i

& 9 AR AR

PIRNHFE, 2RIV N B, 2R 181 EE D5 JE R 45 AT IH B FELBE 2R RIER G
o, ZEMVE B ARG, EREE RIS, K3 IR, SYsh iR A, BLit
w9 it dn?t. R, pA R B EI R e THUR S

1. 1138 2% F 50 ey ik

WG 2 AR s A TN Bk (B2 T LU i) « A= TN D88 bl (B = Bt Lh o
20« WL I BRI AR B THRIJ BE 2 70 FUVR A
[HoRY BARGERWER, B BAT00E. 2IITE 2N, MIMEEAE. R, BSENFiHRE

B AT
2. fili& P B 2 3

138 2 FH 3 G 22 =136 9% FH A/ &7 il 23 BC A o 2 A
SrEChRE: AR L S T E S LR S8 A TN LB, HLEs LN S8 7= s s e

RNt

BE7 b N7 14 61138 B FH =280 7 i 7 BC A X 73 il &

[k ) A A A=H, 277 50 BIFEFALEE TR 50 000 /NEF. 70 000 /NEF, M HATEUE B AR T
%96 000 76 (AHEBERD, ZEREEHE AR T% 24000 7, iR EHLE TR HELE R . AEEH
R Z, HHEESNHEAHEESRHAN C ) Jt.

A. 14 000
B. 10 000
C. 40 000

D. 50 000
EE: B

T 24 H B PR N R AR R 3 2% FH=50 000/ (50 000+70 000) X 24 000=10 000 (75D, ATLLIET B IEH#.

3. il & B Y K 55 Ak B
fir: 2R RA
B g P H]

[ 5] 9-81 B H il Ak 2022 4 5 A FEARA 2200 P P2 dhL#s LA 50000 /N, S P2 S AL ES TR A
40000 ZNEF, AR H 3R 5 AR i3 2% 900000 TG, 2 HEATLSE T 5 004 e il ik 25

#
S
=
H
(]
=




Zoit-HOERRE

#1138 2% FH 43 i Z£=900000 -+ (50000+40000) =10
P 7= il B B H R il 3 2 FH=50000 X 10=500000 (JG)
S 7 i N AR P i3 2% FH=40000 X 10=400000 (JG)
s AP —— AL FPRA —— P 7 W 500000
—S FF i 400000
b HlIERAH 900000



